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Simple Interest Related Problems
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Find the following,

20,000 $ is invested at 10% interest rate per annum. Find the interest at the
end of one year.

4,500 $ is given at 5% per annum rate of interest. Find the interest which will be
received at the end of three years.

6,020 $ is borrowed at 5.5% rate of interest per annum. Find the interest and
the amount to be paid at the end of 5 years.

9,000 $ is borrowed at 2.5% rate of interest per annum borrowed for 3 years.
Find the amount to be paid at the end of the third year.

You have 4,400 $ in your account and the interest rate is 4%. After how many
years would you earn 880 as interest?

10,500 $ is given at 10% per annum rate of interest. Find the interest which will
be received at the end of five years.

12,500 $ is given at 5.5% per annum rate of interest. Find the interest which will
be received at the end of three years.
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